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10g18m [BATHEREREER ABERRIB@O |2 ammmsim 5891000 5891000 5211000\ BBAH FA BIHT £ —2
10A18H 3:_9&%1@2@%@%% FFKERHRIE( FATETHA 2,870,000 2,870,000 2,520,000 HRR= 1 ZEE — &
10A 188 [RATRXILSEMBKFEEHRIUETS RBTHAEHETHA 67,390,000 67,390,000 62,150,000| A PR =+ #IFT 5% 1K — %
108188 i«;ﬁ:&;)ﬁ%% BUKRLTRRHLE (22, REHLEEHAIFEN 12,410,000 12,410,000 11,550,000 |4k X =4t T4t — %
10A18H |RBREMHRIERE(ZD10) RemREEFHmRE, 6,206,000 6,206,000 5520,000| =B EF XS4 — %
10A 188 |[RBREMKFZELE(ZN10) RATHEHRAIEH, 3,310,000 3,310,000 2,880,000\ kX EH BEIXT4— — %
108181 |Hhigh /KB REIBE R B SR E X FFRET RemREEFHRE, 5,529,000 5,529,000 4,960,000 fg%g%;%:’ ey —
10A18H [BIEHRETFHERFE(29-10) FATE LR IFEH 5,071,000 5,071,000 4,900,000| X = KiF — &
11A28 fﬁzﬁi)*ﬁ%% RKERELE (FH20—1 RETHAEH A 38,600,000 38,600,000 34,685,000 (XS AERY -V BE — %
11A2H iéf;émmﬁ;% BKERRELER(20-21T FERTRA A 17,010,000 17,010,000 15,126,000| FRZEHEH KX 24t — %
11A28 [ERHRIE(29—11) REMRERMA 15,331,000 15,331,000 13,554,000 |E R EHEH A4t — %
11A2A | BRHRIE(29—15) RemREEFHhA 11,105,000 11,105,000 9,864,000\ HRR&= R FH L — %




TRH2OFERBTIETFANLER
BALE TH(EH) 4 T () B R | e SR mHLa AHLF
11A28 |AIEHREITE(29-1) Ruthiks LR 10,161,000 10,161,000 8,954,000| F R+ 78 FHEE R — %
11A28 [ERHBREIE(29—14) RATLLATHA 9,675,000 9,675,000 8,538,000| F KX/ XSt — %
11A28 E‘;ﬁ TIBRERRER HBRJETE(20- RATEFFHA 5,010,000 5,010,000 4,422,000 AR ZER — %
11A28 |BRHRIE(29-5) FRAHEFFHA 2,883,000 2,883,000 2,542,000\ FRR &+ #RIEE — %
1MA28 | KEYHEESHEAIE RBTRT SR 9,148,035 9,148,035 6,846,700| P SEHEHK A=+ — %
11A28 |BRRSHRBZRETLSE(29—4) RATRETHAZ A 3,077,000 3,077,000 2,674,000 B EEEHASH —fig
11A28 |[REFRBERLEBHER IO SBEHEERETIE (RATRERMN 7,370,000 7,370,000 7,300,000\ /Il AE B T /KX 24t — %
11A28 |RBREMHRER(ZD12) FamEHFAHAIFH 1,808,000 1,808,000 1,590,000 B EEFH#RA =4 — %
11A28 |AERERHEHEFR(29-12) FEAHTERBA 7,686,000 7,686,000 7,300,000\ 1=#> BlEK% K&t — %
11A2H E;;é%§@¥ﬁ$¥ B ST R Rt it RE B EE RN 4,621,000 4,621,000 3,590,000 Eﬁggﬁﬁ — %
11A28 %g;{é?ﬁggﬂ%i E- Mt RAERE R FRATEFFHN 4,836,000 4,836,000 4,550,000 BERE#H7—FTvIKE — g
11A15H :I“g? KEBR BKERSELE(RH20—1 RA TR &R A 26,610,000 26,610,000 23,755,000 E REZHEH A4 — %
1MA15H [EBRHRIE(29—-17) FATHE AR 17,613,000 17,613,000 15,612,000 AR/ HETEITXE — %
11A158 [EBHRIE(29—-16) REMAEHA 11,904,000 11,904,000 10,496,000\ ER =+ K FEE — %
1MA158 |voR—LEEHE (29—2) FATiTRE B Hh P 6,484,000 6,484,000 5,993,000\ BER&=/IMAERETI % — %
11A15H %jﬁ FIBRERRER HBRJETH(20- REMEFFHA 9,207,000 9,207,000 8,101,000 |EIRE#RF K — %
1B 158 RATKEER BRKEMREILE(TK29-2], o TS AR 4480000 4480000 3060000 |5 MRS HE A g

IRX)




TRH2OFERBTIETFANLER
BALE TH(EH) 4 T () B R | e SR mHLa AHLF
MA15A RATKESE HAREREISZ(29-1IR) |FERA&TTFFitHthRIEL 2,600,000 2,600,000 2,289,000 |FTAEERBRMES — %
11 A158 |NIARIENEREMRIETE RETRERMA — - — |5 — &
1MA15A [RBT)—VNR\—VE ARG TE RETMEESHA - - — |5 — %
1MA15A (\BENERISAIVTHEERETLSE RBMTFaA - - — |5k — %
118158 ;;gg_@g%ﬂ%% E0- Ut AERE RS EETRAETAIFEHL 7,365,000 7,365,000 6,950,000 |BRSHT—FTVIKE —h%
118158 ﬁ“'xﬁ&ﬁﬁ}“ R RARBR FATEBHMRNIEH, 2,754,000 2,754,000 2,480,000 %;ﬁfgf:'w” THARH —h%
11A29R8 ?’ﬁg*ﬁg% RUKEM®RE L (R#20—1 REHELHR 23,730,000 23,730,000 21,153,000 |#TEEEFEMA = — %
118290 |{BRMEIETE (RB) RATASH1THHA 15,529,000 15,529,000 13,853,000 |HEEEIHA R4 — &
11A29R8 |BRBELE CKEER) RAE TRy LA 15,360,000 15,360,000| 13,785,000 |#EEEHKA R4t — %
11A29R [EBHRITE(29—13) RET A 10,944,000 10,944,000 9,682,000 [/MAFFEEHKA 4 — %
MA298 |EEFLMREEEREEX SERIE(29-7) RATEFFHA 3,128,000 3,128,000 2,189,600 [HrEZRBEMES — %
11A298 E)’\fﬁ’kﬁ$¥ MEAEIELE(EH29-1T f amLAETEZT BAE 20,220,000 20,220,000 18,038,000 [{EEEFZMA =1 — %
1B 298 ’f;%ﬁll\%fwﬁ*éz BEZ BHIR— VRS | e 1 mrahpy _ _ — |z —
11A298 (AR NERIENMEKRUTHIETS RBTEARBAIZN 4,880,000 4,880,000 4,600,000 |TaH—E XX K1t — %
11A29R8 [RAPERGKRLTRIETSE FERTHAMA - - — | &R — %
11A298 |7k H- LR X AR FREE B R E T RATKEMA - - — |~ EH — &
11A298 |BIRINVEREBRIBERZRFERIETS FRATHRIRMA - - — | R — &
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Bi4LE T (£H) % TH(EH) B Gnom | @rem | Gsem EALE AHLF5iH
11A298 [BIEAERRHRE(29-13) REMEHFSHAEH, 7,087,000 7,087,000 6,680,000 |#kXZHEMFAREIFILEUS | —K
11A298 |NIARIENEREMRIETE RATMRERMA — - — |5 — &
1A298 [RBT)—vR\—JEARBRIETSE RETMEESHA 12,800,000 12,800,000 11,800,000 [FHEX KA R4t — %
12A11A [EBHRITE(29—-18) FATHA A 18,356,000 18,356,000| 16,235,000 /NS B EIEM A R4t — %
12A11B [1LBYRSERETE(ZD3I) R TRER R 12,024,000 12,024,000 10,593,000 |HF BEHM KR4 — %
12A11A [EBHRITE(29—-19) FEATH LA 11,031,000 11,031,000 9,766,000 | Mk X =L HiiE TH 5 — %
12A11H8 [EBHRIE(29—-21) ZR 2 i ] P 3t ) 10,759,000 10,759,000 9,531,000 ik Z XM A4 — %
12A 118 [EBHRITE(29—-20) RBTFHRHA 8,336,000 8,336,000 7,720,000| %5 PR &= #t U5 4 — %
12118 [SEHRTE(28—6) Fath LEEBRIEN 3,628,000 3,628,000 3,191,000 #FrEZ X BRES — %
12A 118 |[HEHRTE(28—5) RATHAAITH 3,474,000 3,474,000 3,055,000 | #TEZ X RRES — %
12A118 [BIEHRAERERBHRTE(29-15) R TEER 6,235,000 6,235,000 5,940,000| B R+ KFIRAIE — %
128118 %gf’;ﬁ’f?f BAREMEBIRREIER | s b mim 4,750,000 4,750,000 4,080,000| %A1 H LA Y H RS 4 — g
12A208 (BEKEREBHELE(29—1) FEATEMA 28,689,000 28,689,000 28,500,000 Mk Xt ERIF T 2 — &
12A20H [EBHRIE(29—22) R EBRIEN 9,572,000 9,572,000 8,422,000 #k X =+ K% — %
12A20H [HEHRETIE(29—1) FAHIEMRA - - — | &R — %
12H20H T)ga:u@z@%&%% KEEHRHLE (29— RBTHRAETHA 2,070,000 2,070,000 1,825,000 A R4 ZTEE — %
12H208 |BRINVEREBRIBERZRFERIETS FRATHRIRMA - - — | R — &
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12A208 [BIEAERRBHRTE(29-14) RAmEr DR IEMN 6,257,000 6,257,000 6,000,000| = # B2k X1t — %
12A 208 |$EBH#EIE(29-7) RemREEFHhA 10,177,000 10,177,000 8,944,000 4k X =R AKEKR — %
12A 208 |SHEE#TIE(29-6) REHEEA 6,545,000 6,545,000 5,736,000| &% EHEBRHKA A4t — %
12208 |FEHRTE(29—-2) FATILE R IFEA 5,776,000 5,776,000 5,074,000\ BRR&=#t R FH L — %
12A208 |SHEHHZTE(29-1) FERTARBMBAITH 4,670,000 4,670,000 4,111,000| A RZERBRES — %
12208 |SEHRTE(29—-3) FEA K E A IE 3,196,000 3,196,000 2,811,000\ HR&=# R FH L — %
12A208 [A£TKEEHRRITE (29— 10/K) A TH/ETEM R 424,379,000| 424,379,000 292,670,000k &1t EA AR T FEAT — %
Tﬁ%ﬁ HEBEIE(29-8) RBTHKEHA 18,656,000 18,656,000 16,483,000\ HP S HMH A4 — %
1A238 |dLBYREBIRIE(ZED11) RBTERAHA 40,292,000 40,292,000 36,018,000k X4t #H THIE — %
1A23H [ERHRIE(29—23) RETMRBA 16,878,000 16,878,000 15,007,000| ¥k X &4 KHK — %
1A238 |HEHRETE(29—1) REHEHA 8,658,000 8,658,000 7,633,000\ M EZ R =4 — %
1A238 |fEEICHA#X FKEMBZIE(29—1) RRTRBERR 3,460,000 3,460,000 3,051,000| BRE+LRA R fE T FFT —
1A238 |dLBYRBELTE(ZD3) ERTRAMA 27,331,000 27,331,000 24,264,000 NEHEHEH A= — %
1A238 |BIERERTFHRFT(29—-6) RBTHRKAHBA 7,315,000 7,315,000 6,850,000\ L=# B EH% A=t — %
1A238 |dLBYREBR PRI EBRE FEA TR AT R IF A 5,257,000 5,257,000 4,960,000| XS4 KiF — &
1A31H [BRRFERBERETSE RETHERHA 68,090,000 68,090,000 64,590,000 (kX =4t KA # — %
1A31A (R EMAREZETS FEAHEFFHA 897,200,000/  897,200,000| 744,700,000 BRI XAk K 4t — %
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Bi4LE THEH S TH(EH) B Gnom | @rem | Gsem EALE AHLF5iH
1A31H |(RFH A AREERRFE LS REHMEFFHA 173,100,000/ 173,100,000 146,900,000 |tk 4t £ 42 — %
1A318 |(RFF) REL RELHKBERKBIE RRHEFFHA 93,280,000 93,280,000 84,100,000( 1 7Ltk X =1t — %
1A318 |(R#) @A REEZRAMZIHFIE RAMEFFHA - - — | —h
2A28 |FATKESE RKERAHKIE(29-5IR) |FEATRAMA 59,780,000 59,780,000 53,730,000 Mk X4t #H T HIE — %
2A28 |BIiEMERTIE(29—-3) REHBRFTEA 9,926,000 9,926,000 8,780,000 | ¥k X 4L KK — %
2A2A8 iéf;éfﬁmﬁ%% KEBEZBRIE(20-1T FEATEAAE T BHRIEH, 2,000,000 2,000,000 1,950,000 ¥k X R4 TE UG B L E —f%
2A28 (RIEXEHERFE(29-17) EATKIZEHA 1,259,000 1,259,000 1,200,000 Z15 L R BB T EHAT — %




